AL RAvIT7—I\
Side Cutter Arbor

¥ JIS fllET 5S4 ARV AFILY —H,
" For JIS side cutter and metal saw.

AHO-A
HSK-A/E/F/C
HSK-T

C

UTsS

ST
il
RAEEER
7y1 578

&

ut

2
e
it
¥
=
—

.
i
T
s
L
I

Ci  Dn Gi

NS N AN}

Pnyd buni

30~~Hi~|

1— »H«B1
4#4

L _u

WSSt

J3p|oH 33]10D

Lol
.0
4*9%
4*34»

J3p|OH 0497 .Y
NS SOgD

7\

g7
2 F
=0
57
Sy
c Y
54
25
ey
=3
5
4%
o Y
ic
3% BEHy 4-§
7 ] D1 2573 T
57 A/%cijgl Type | (he) G1 K1 H3 Cutter dia.
7 Example
0790 00113075 | BT30 -SCA13 -75 1 13 75120 |M12 X 1.25/15 ] - - 13578,10,1212 17 | 0.7 23,760 50
0790 00116075 -SCA16 -75 2 16 75|26 M14 X 1516 | 4 |17.2/3,5,7,8,10,12 |13 |22 |0.9| 23,760 | 50 ~ 63
0790 00122075 -SCA22 -75 2 22 75|34 |M20 X 1.5/21 | 6 |23.6/3,5,7,8,10,12 18|30 |1.2| 23,760 | 60 ~ 125
- 0790 00313060 | BT40 -SCA13 -60 1 13 |60|20 M12X125|15 - | - |3,5,78,10,12|12 17 1.4 27,000 50
Z? 0790 00313090 -90 1 13 90 |20 |[M12X 12515 - - 135,78,10,12112 17 | 1.7 28,080 50
g % 0790 00316075 -SCA16 -75 2 16 | 7526 | M14 X 15/16| 4 |17.23,5,7,8,10,12 |13 |22 |[1.4 | 27,000 | 50 ~ 63
%é 0790 00316105 -105 | 2 16 |105/26 |M14 X 1.5/16| 4 |17.2/3,5,7,8,10,12|13 |22 |1.6| 28,080 | 50 ~ 63
27 0790 00322075 -SCA22 -75 2 22 75|34 |M20 X 1.5/21 6 |23.6/35,7,8,10,12 18|30 1.7 | 27,000 | 60 ~ 125
g@ 0790 00322120 -120 | 2 22 120 34| M20 X 1.5/21| 6 |23.6/3,5,7,8,10,12 |18 30 | 2.1| 28,080 | 60 ~ 125
s 0790 00327075 -SCA27 -75 2 27 75140 M24 X2 25| 7 | 29 |35,78,10,12 21|32 |2.0| 27,000 | 75~ 100
%):I;/ 0790 00327120 120 | 2 27 1120140 | M24 X2 (25| 7 | 29 |35,7,8,10,12 /21 32 2.4 28,080 | 75~ 100
_ 0790 00332090 -SCA32 -90 2 32 90 |46 | M30 X2 |30 8 | 34 |35,7,8,10,12 |26 |41 | 2.6 29,160 | 100 ~ 250
2 T% 0790 00513075| BT50 -SCA13 -75 1 13 75120 |M12X 12515 - - 13578,10,12 12 17 4.3 32,400 50
%;g 0790 00513105 -105 | 1 13 |105/20 M12X125|15 - | - |3,5,7,8,10,12|12 |17 4.4 34,560 50
7R 0790 00516090 -SCA16 -90 2 16 90 |26 |M14 X 1.5 16 4 17.2|3,5,7,8,10,12 |13 |22 |4.1| 34,560 | 50 ~ 63
Elld 0790 00516120 -120 | 2 16 120/ 26 |M14 X 1.5/16| 4 |17.2/3,5,7,8,10,12 |13 | 22 |4.2 | 35,640 | 50 ~ 63
g 7 0790 00522090 -SCA22 -90 2 22 90 |34 |M20 X 1.5/21| 6 |23.6/3,5,7,8,10,12| 18 | 30 |4.4| 34,560 | 60 ~ 125
s !/
5% 0790 00522135 135 | 2 22 13534 | M20 X 1.5/21| 6 |23.6 3,5,7,8,10,12 | 18 30 4.7 | 36,720 | 60 ~ 125
g S 0790 00527090 -SCA27 -90 2 27 90 (40| M24 X2 |25| 7 | 29 |35,7,8,10,12 21 |32 |45 34,560 | 75~ 100
0790 00527135 135 | 2 27 135/ 40| M24 X2 (25| 7 | 29 35,7,8,10,12 /21 32 4.9| 36,720 | 75~ 100
8;4 0790 00532090 -SCA32 -90 2 32 90 |46 | M30 X2 |30 8 | 34 35,7,8,10,12 26 | 41 |4.9| 34,560 | 100 ~ 250
2z P4 0790 00532135 135 | 2 32 |135/46| M30 X2 |30 8 | 34 |35,7,8,10,12 |26 |41 5.7 | 36,720 | 100 ~ 250
%’E 0790 00540090 -SCA40 -90 2 40 90 | 55| M36 X3 |36 10 425|3,5,7,8,10,12 31|46 59| 34,560 | 150 ~ 315
. 0790 00540135 135 | 2 40 |135/55| M36 X 3 | 36|10 |42.5/3,5,7,8,10,12|31 |46 | 6.7 37,800 | 150 ~ 315

162 BFHmbTABIEEL, /w Specials on request




A1FHA4XHhy 2
For Inch size

S BEhy a1
Emd— kR Ei5 :
Type C1 kg Cutter dia.
Code Model Example
0790 01112075 | BT30 -SCA12.7 -75 1 12.7 75120 |M12 X 1.25/1 3,5,7,8,10,12 23,760
0790 01115075 .SCA15.875 -75 | 2 | 15875 75 26 M14 X 1.5 16 3.18/17.42 3,57,8,10,12 13 22 1.2 23,760 | 50 ~ 63
0790 01122075 -SCA22.225 -75 2 22.225 | 75|34 |M20 X 1.5 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 |1.5 23,760 | 60 ~ 63 AHOA
0790 01312060 BT40 -SCA12.7 -60 1 12.7 60 | 20 [M12 X 1.25/ 15| - - 13578,10,12 |12 1 17 |1.4 | 27,000 50 %
0790 01312090 -90 1 12.7 90 | 20 [M12 X 1.25/ 15| - - 1357:8,10,12 |12 17 | 1.7 | 28,080 50 e
0790 01315075 -SCA15.875 -75 2 15.875 | 75|26 M14 X 1.5/ 16 3.18/17.42| 3,5,7,8,10,12 | 13 |22 1.4 | 27,000 | 50 ~ 63 uTS
0790 01315105 105 | 2 15.875 105/ 26 M14 X 1.5/ 16 |3.18/17.42| 3,5,7,8,10,12 |13 |22 | 1.5| 28,080 | 50 ~ 63 ST
0790 01322075 -SCA22.225 -75 2 22.225 |75 34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 1.7 | 27,000 | 60 ~ 63 FR
0790 01322120 120 2 22.225 |120| 34 |M20 X 1.5/ 21 3.18|23.82| 3,5,7,8,10,12 | 18 | 30 |2.0 28,080 | 60 ~ 63 BHiE i ER
0790 01325075 -SCA25.4 -75 2 25.4 75|40 M24 X 2 | 25 6.35|27.78| 3,5,7,8,10,12 | 21 | 32 |2.0 27,000 | 75 ~ 125 Frh
0790 01325120 120 | 2 25.4 120 40 M24 X 2 | 25|6.35/27.78| 3,5,7,8,10,12 | 21 | 32| 2.4 28,080 | 75~ 125 gf
0790 01331090 -SCA31.75 -90 2 31.75 90 46| M30 X 2 | 30|7.92/34.92| 3,5,7,8,10,12 | 26 | 41 |2.6| 29,160 | 100 ~ 250 E;
0790 01512075 BT50 -SCA12.7 -75 1 12.7 75120 |M12 X 1.25/15 | - - 13578,10,12 | 12|17 |4.3 | 32,400 50 gi
0790 01512105 -105 | 1 12.7 105/ 20 M12 X 1.25/ 15| - - 1357,810,12 | 12|17 |4.4 | 34,560 50 ™5
0790 01515090 -SCA15.875 -90 2 15.875 |90 |26 |M14 X 1.5 16 3.18|17.42 3,5,7,8,10,12 | 13 |22 4.2 34,560 | 50 ~ 63 o1
0790 01515120 -120 | 2 15.875 (1201 26 M14 X 1.5/ 16 3.18/17.42| 3,5,7,8,10,12 | 13 22 | 4.4| 35,640 | 50 ~ 63 E‘E
0790 01522090 -SCA22.225 90 2 22.225 |90 |34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 | 4.4| 34,560 | 60 ~ 63 %,T,
0790 01522135 135 | 2 22.225 135 34 M20 X 1.5/ 21 3.18/23.82| 3,5,7,8,10,12 | 18 | 30 4.7 | 36,720 | 60 ~ 63 S
0790 01525090 -SCA25.4 -90 2 25.4 90 40| M24 X 2 | 25 6.35|27.78| 3,5,7,8,10,12 | 21 |32 |4.5| 34,560 | 75 ~ 125 =
0790 01525135 -135| 2 254 135 40| M24 X 2 | 25 6.35/27.78) 3,5,7,8,10,12 21 1 32 /4.9 36,720 | 75 ~ 125 «gg
0790 01531090 -SCA31.75 -90 2 31.75 90|46 | M30 X 2 |/ 30|7.92/34.92| 3,5,7,8,10,12 | 26 | 41 | 4.7 | 34,560 | 100 ~ 250 gl;lrf
0790 01531135 135 | 2 31.75 135/46 | M30 X 2 | 30|7.92|34.92| 3,5,7,8,10,12 | 26 | 41 |5.2| 36,720 | 100 ~ 250 “
0790 01538090 -SCA38.1 -90 2 38.1 90 | 55| M36 X 3 | 36 9.52/42.06| 3,5,7,8,10,12 | 31 | 46 |4.9| 34,560 | 150 ~ 315 %/4\
0790 01538135 -135| 2 38.1 |135 55| M36 X 3 | 36 9.52/42.06| 3,5,7,8,10,12 | 31 | 46 |5.9| 37,800 | 150 ~ 315 EE
5 F
g7
27
W F Yy FRU 3,57,81012 4 XDAZ—Id& 1 BREIHBLTVET, 5
One clamp nut and spacers (size 3, 5, 7, 8, 10, and 12 / one each) are included. w i
E
R
TF32f Ordering Example z %
5
BT30 - SCA12.7 - 75 -
VADNREPA D1 ZEHLRT (L) 2E
Shank size Projection length a7
=3
S
57
Lk
g%
=1
)
T £
3 7
.
&
S &
2
o 4
g4
8
$1m
=317
57
22
2%
£ F
g ¥
$7
g
i
BFHmbTABIEEL, Specials on request




	29JP_00_ALL_Part164
	29JP_00_ALL_Part165



